®AISIA

METAL PRODUCT : Alpha List

Wellington, NZ
Phone 04-5687277
International 64-4-9393 777
email: sales@casa.co.nz

HEADING EXPLANATIONS :

Avalil
Unit

Price
Stock
Job #
Batch

= Actual AVAILABLE stock for sale (includes stock to arrive/being made, less customers forward orders)

= Unit of supply / pricing (H = 100, E = Each, Hr = Hour, K = Kit, M = Meter)

= List Price for 1 Unit (NZ$). Please apply for volume pricing, custom processing and alternative finishes etc.
= Physical / Theoretical Stock on hand.

= Current / Last Job number upon which this product was made
= Group of set of similar Metal Product for current / last job

®AISIA

METAL PRODUCT : LOOK UP & ALPHA Listing

Pagel

Tuesday, 14 July 2020 12:50:36 p.m. Report Name :- MP_ALPHA.RSL (13/02/18)AWD

Type / Part / Model # Description Price | Unit| Avail | Stock | Job # |Batch
1 | 21-0252D Card Handle Black 169 E
2 | 21-0252F Card Handle Black 169 E
3 | 27-1293J #6x0.5" Pan Poz Self Tap Screw 13.10| E
4 | 27-1319C M2.5 Hex Full Nut 6.72| E
5 | 27-1319C M2.5 Hex Nut 672 E
6 | 27-3070F M3x12 Hex Head Bolt 13.82| E
7 | 33-0429B PC Guide Rail 431.8 3.40| E
8 | 33-0502J Locking Catch for Hinged Panel 0.00 E
9 | 33-0503D Spring for Locking Catch 33-0502J 0.00 E
10 | 33-1679A PC Spacer Strip 5.08 Pitch 344 E
11 | 33-1679E Spacer Strip 5.08mm Pitch 336/ E
12 | 35-0463A Not sure what this is (need to inspect) as it is not in the catalogue. 4.55 E
13 | 35-0465B PC Guide 66.68 Long for use with VERO 3E Card Frame System 0.32 E
14 | 35-0465B PC Guide 66.68 Long 319, E
15 | 35-0471E Rack Mounting Bracket 3U 210 E
16 | 35-0471E Rack Mounting Bracket 3U 3.56| E

17 | 35-0500A Hinge Bracket LH+RH Pair 176 E 200 1
18 | 35-0501G Hinge Pivot Plate 0.00 E
19 | 35-0792L Front Rail 431.8 Long 6.30 E
20 | 35-0793F Front Rail 428.8 long (for Hinge plate) 7.01 E
21| 35-1321A PC Guide "Snap-In" 161.93 491 E
22 | 35-1321A PC Guide 161.93 Long 0.46| E
23 | 35-2152F Connector Mounting Rail 353 E
24 | 35-2152F Connector Mounting Rail 431.8 353 E
25 | 35-2209E 3U System Kit 3C (Short) 69.68| E
26 | 35-2215H 3U System Kit 3C (Long) 7455 E
27 | 35-2215H/S Special Length 120.71| E
28 | 35-2471L 3U End Plate 250.83 Long 8.78| E
29 | 35-2471L Side Plates 3Ux250.83 Long 8.78| E
30 | 35-2472F 3U End Plate 335.00 long 11.34| E
31 | 35-7909B Front Panel Kit with Hinge etc 2436 E
32 | 36-2218F 3U System 3D Kit (Short) 53.47| E
33 | 37-0404C Rail Double Connector Monting 431.8 4.16 E
34 | 37-0605F 3UX5E Front Panel 223 E
35 | 37-0607G 3Ux10E Front Panel 204 E
36 | 37-0608B 3Ux20E Front Panel 475 E
37 | 37-0609H 3Ux25E Front Panel 706/ E
38 | 37-0611J 3Ux40E Front Panel 949 E
39 [ 37-0633J 3UX5E Rear Panel 617 E
40 | 37-0635K 3Ux10E Rear Panel 281 E
41 | 37-0636E 3Ux20E Rear Panel 323 E
42 | 37-0637L 3Ux25E Rear Panel 475 E
43 | 37-0639A 3Ux40E Rear Panel 643 E
44 | 37-0656D 20E Base Plate (Short) 428 E
45 | 37-0657K 25E Base Plate 500 E
46 | 37-0659L 40E Base Plate 643 E
47 | 37-0660F 20E Base Plate (Long) 6.01| E
48 | 37-0661A 25E Base Plate 672 E
49 | 37-0663B 40E Base Plate s40| E
50 | 37-0664H 3U Side Plate for "3E" (Short) Module 496 E

[ERISIA] Page 1 [ERISIA]




HAGH METAL PRODUCT : LOOK UP & ALPHA Listing

Tuesday, 14 July 2020 12:50:36 p.m.

Page 2

Report Name :- MP_ALPHA RSL (13/02/18)AWD

Type / Part / Model # Description Price | Unit| Avail | Stock | Job # |Batch
51 | 37-0667D 3U Side Plate for "3E" (Long) Module 710 E
52 | 37-0676C Rear PC Connector Rail 431.8 long 701 E
53 | 37-0676C Top/Bot Rear Rail for 3E 7.01 E
54 | 37-2799H 15E Base Plate (Short) for "3E" Module 3.36| E
55 | 37-2800A 15E Base Plate (Long) for 3E Module 4.91 E
56 | 37-3777L 3Ux15E Front Panel 311 E
57 | 37-3780G 3Ux15E Rear Panel 370 E
58 | 41-0494D M2.5x18 Bolt 33.22| E
59 | 41-0494D M2.5x18 Connector Monting Screw 33.22| E
60 | 41-0596J Top Fron Rial for 3E 000l E
61 | 41-0596J Top Rail (#12-3250L or 35-0793F cut to 419.10mm) 0.00 E
62 | 41-1376E Hex Bolt M3x8 874 E
63 | 41-1376E M3x8 Hex Bolt 874 E
64 | 41-2298D M2.5x24 Connector Mounting Screw 0.00( E
65 | CARD-FRAME-4U-3C(USED) 4U System Kit 3C (Long) with PCB Slab Rails top & bottom + Connector / 63.01 E 1
backplane studs
66 | CMS-M3 Connector Mounting Strip M3x5.08 Pitch 0.00 E
(RIS Page 2 [BRIS[A




